[lex118] Radiation fields and Poynting vector for half-wave linear antenna
Given the vector potential in the radiation zone,

ol cos (g cos 9)
27kr sin’ 0

A(X,t)aa = sin(kr — wt) z,

for a half-wave linear antenna as derived in [lIn19], calculate the the radiation magnetic field from
B =V x A, the radiation electric field from E = ¢B x t, and the Poynting vector in the radiation
zone from S = E x B/pg.

Hint: Use spherical coordinates and neglect all field terms that decay faster than ~ 1.

Solution:



